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ECONOMICS
[ Honours |
PAPER — I
Full Marks : 90
Time : 4 hours

The figures in the right-hand margin indicate marks

Candidates are required 1o give their answers in their
own words as far as practicable

Hiustrate the answers wherever necessary

GROUP —- A

Answer any three questions : 10x3

1. Show briefly how the interaction between the
multiplier and the acceleration may lead to
cyclical fluctuations in income. . 10
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What is meant by inflationary gap ? Discuss
in brief the difference between demand pull
inflation and cost push inflation. 347

How does Permanent Income Hypothesis of
consumption explain short run variability and long
run constancy of average propensity to consume 7 10

Explain the Keynesian theory of demand for
money with special emphasis on "liquidity trap". 10

What are the assumptions of full classical model
of employment and output ? How does this model

explain automatic full employment of an economy ?

, 3+7
Examine the effectiveness of (a) fiscal policy
and (b) monetary policy in a simple IS-LM
framework. ' 5+5

GROUP - B

Answer any eight questions : 5x8

Explain the 'Inventory Stock adjustment' in the
context of national income accounting.
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What is crowding out effect ?

~ What do you mean by classical dichotomy ?

On what factors does the multiplier of credit
creation depend ?

Explain the money demand funciion of Milton
Friedman.

Explain the 'Real Balance Effect'.
Explain the concept of Real Business cycle.

What are the causes of downward rigidity of
wages in a Keynesian model 7

What do you understand by demonstration
effect ?

Explain the concept of paradox of thrift.

If investment demand is Perfectly interest inelastic,
what will be the shape of the 1S curve ?

Do you think that transaction demand for money
can be interest elastic ?
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GROUP-C .
Answer any fivé questions : | 4x5

19. How does central bank control the money
supply through bank rate ?

20. What are the fiscal measures to control
inflation ?

21. Explain why the long run phillips curve is
vertical.

22. State and explain Okun's law.
23. What do you mean by GNP deflator ?

24. What will happen in the Keynesian aggregate
income determination model if there is an increase
in transfer payment ?

25. Explain the Fishar's version of Quantity theory
- of money.

26. Show that the value of balanced budget mu]tlpller
is unity. :
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